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10.

. Calculatji:

a) /x3 + 2% + cos(z) dz  b) /x7 — 423 + sin(x) dx

. Calculati:

/2

b) / 22 - sin(z) dz o) / 2.

0

/2
a) /x2 - cos(z) dx
0

—

Calculati:

/3

a) / sin®(3z) - cos(3z) da b) / sin’ (4z) - cos(4x) da

/6 m/8

/4 7/10

/20

Fie D = {(z,y) e R? |0 <z <2, 1 <y < 3}. Calculati:

a) //xdxdy b) //ydxdy
D D

Fie D = {(z,y) e R? | —1 <z <1, 0 <y <4}. Calculati:

a) // z dzdy b) // y dzdy c) // z? dzdy

D
Fie D = {(z,y) e R? |0 <z <1, z <y < 3z}. Calculati:

a) //x-i—?ydxdy b) // 2?2 4y dady
D D

Fie D = {(z,y) e R? | 1 <z <2, 2% <y < 3z3}. Calculati:

a) //:c+2ydxdy b) // 2?2 + y dzdy
D D

Fie D = {(z,y) € R? |y < 2 < 5y, 2 <y < 3}. Calculati:

a) // 2z + y dzdy b) // z? +y? dady
D D

Fie D = {(x,y) € R? | y® < 2 < 5y*, 2 <y < 3}. Calculati:

a) // 2z + y dxdy b) // 2?2 4 9% dady
D D

Fie D = {(z,y) € R? | 22 + y? < 25}. Calculati:

2) / / 1 dzdy b) / / 9 dady
D D

c) // 22 dady

D

c) /x6+2x3+6xdw

63

d) /m2 ‘In(z) dz

1

/3

w/6

d) // y® dzdy

D

d) // y® dzdy

D

c) // x + 1> dady

D

c) // z +y> dedy

D

c) // 23 + o3 dady

D

c) // 23+ o3 dady

D

o) / / 9y dudy
D

d) /x5—7x4+3xdx

c) / cos®(5z) - sin(5z) dz d) / cos’ (3z) - sin(3z) da
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Fie D = {(z,y) € R? | 16 < 22 + y? < 25}. Calculati:

2) / / 1 dady b) / / 9 ddy

D
Fie D = {(x,y) € R? | 9 < 2% + y? < 36}. Calculati:

2) / / 1 dzdy b) / / 9 dady
D D

Fie D = {(z,y,2) e R® |1 <2 <2, 2<y <3, 3<2z<4}. Calculati:

a) ///ldxdy b) ///x+2ydzdy
D D

Fie D = {(z,9,2) eR3 |0< 2 <1, 1<y <2, 2<z<3}. Calculati:

a) ///ldxdy b) /// 22 + 3y? dady
D D

Fie D = {(z,y,2) €ER?® |0 <2 <2, 2<y <4, 4<2z<6}. Calculati:

a) ///x—l—yzdxdy b) ///y—l—a:zdxdy

Fie D = {(2,y,2) ER?® |0 <2 <2, 2<y <4, 4< 2z <6}. Calculati:

a) ///x+yzdxdy b) ///y+a:zdxdy
D D

Fie D = {(x,y,2) € R? | 22 +y? < 16, z € [0,1]}. Calculati:

a) /D// 1 dady b) /j!/xdxdy

Fie D = {(z,y,2) € R? | 22 + y* < 16, z € [0,1]}. Calculati:

a) /LZ / 1 dady b) /]Z / 2z dady

Fie D = {(z,y,2) € R® | 2% + 22 < 16, y € [0,1]}. Calculati:

2) /D/ / 1 dady b) /D/ / 9y dudy

Fie D = {(z,y,2) € R® | (y — 1) + 22 < 16, = € [0, 1]}. Calculati:

2) /D/ / 1 dady b) /! / 9 dady

Fie D = {(x,y,2) € R® | 22 + (2 — 1)2 <9, y € [0,1]}. Calculati:

a) /! / 1 dady b) /! / 2z dady

0 é/ 2 drdy

) é/ 2 drdy

5 /D//a:+2y+32dxdy
5 /Z/ zyz dudy

5 /D//z-i-acydxdy

) /D//z+a:ydxdy

5 /!/ 22 + o dedy

5 /D// 22 + 92 dedy

5 /Z/ 22 + 22 dady

c) /// y? + 22 dady

c) /// x? + 2% dady
D



